Garland Independent

GISD Sourcing Bid Tab

Bid#:	32046	Title: 319-19 Track Uniforms
		and Equipment

	Vendor / Supplier	EPCNT	Discount
546507	*ALUMINUM ATHLETIC	YES	5%
	EQUIPMENT COMPANY		CROSSBARS,
			VAULTING POLES.
			PORTABLE PRESS
E 40 E 4 A	AMERICA TEAM SPORTS	Yes	10-40%
	*BARCELONA SPORTING	ves	0 to 10%
	GTM SPORTSWEAR	ves	10% OFF apparel.
347310	GIW SPORTSWEAR	yes	
			20% OFF Warm-ups,
546510	HALDEMAN HOMME INC	YES	12% off Catalog &
			Website before
545509	KNOCKOUT	Yes, we are	A 10% discount is
	SPORTSWEAR.COM LLC	an approved	offered on our KO
546513	MFAC LLC	Yes	10% with
5/8513	PYRAMID SCHOOL PRODUCTS	YES	EMAIL FOR PRICING
	SCHOOL SPECIALTY INC	No	34% off current list
047010	CONTROL OF LONALT FINO		price on Supplies
F 47F40	THE PROPHET CORP	Yes	10% Dicount does
34/312	THE PROPHET CORP	res	,
			not apply to Only
			From Gopher (OFG)
547514	VARSITY BRANDS HOLDINGS	YES	10% off BSN 2018
	CO INC		Equipment Catalog
			with exceptions.
			See attached

*Confidential

Line		Award			Connidential			Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Gill Metal Batons, assorted colors -11'length							
1	or approved equal	4MO		EA	SCHOOL SPECIALTY INC	64	\$1.923	\$123.072
		Υ		EA	PYRAMID SCHOOL PRODUCTS	64	\$1.95	\$124.80
				EA	THE PROPHET CORP	64	\$2.74	\$175.36
				EA	HALDEMAN HOMME INC	64	\$3.00	
				EA	*BARCELONA SPORTING GOODS	64		
				EA	VARSITY BRANDS HOLDINGS CO	64	\$3.31	\$211.84
				EA	AMERICA TEAM SPORTS	64	\$3.70	\$236.80
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	64		
				EA	MFAC LLC	64	\$4.00	\$256.00
2	Gill Discus Carrier #931 or approved equal	4MO		EA	PYRAMID SCHOOL PRODUCTS	4	\$5.75	\$23.00
		Υ		EA	*BARCELONA SPORTING GOODS	4		
				EA	MFAC LLC	4	\$10.00	\$40.00
				EA	HALDEMAN HOMME INC	4	\$11.00	
				EA	THE PROPHET CORP	4	\$12.04	\$48.16
				EA	AMERICA TEAM SPORTS	4	\$13.40	\$53.60
				EA	VARSITY BRANDS HOLDINGS CO	4	\$13.91	\$55.64
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	4		, ,
3	Gill 2-Shot Carrier #929 or approved equal	Υ		EA	HALDEMAN HOMME INC	4		
				EA	VARSITY BRANDS HOLDINGS CO	4	\$13.98	\$55.92

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
					*DAROSI ONA ODODTINO OCODO			
				EA EA	*BARCELONA SPORTING GOODS MFAC LLC	4	\$14.00	\$56.00
	Gill Hollowood Star			EA	AMERICA TEAM SPORTS	4	\$16.50	\$66.00
	Discus #313 - 1.0K or							
4	approved equal	Υ		EA	HALDEMAN HOMME INC VARSITY BRANDS HOLDINGS CO	1	\$228.00	\$228.00
				EA	INC	1	\$246.98	\$246.98
				EA	MEACLLC	1	¢240.00	£240.00
				EA	MFAC LLC		\$249.00	\$249.00
				EA	*BARCELONA SPORTING GOODS	1		
	Gill Pyramid ¼'Spikes			EA	AMERICA TEAM SPORTS	1	\$260.00	\$260.00
	(100 bag) #842 or				*ALUMINUM ATHLETIC			
5	approved equal	Y		BG BG	EQUIPMENT COMPANY MFAC LLC	23 23	\$8.00	\$184.00
		'		BG	THE PROPHET CORP	23	\$8.44	\$194.12
				BG	VARSITY BRANDS HOLDINGS CO	23	\$8.49	\$195.27
				В	inc	23	φ0.43	φ193.21
				BG	HALDEMAN HOMME INC	23	\$9.00	\$207.00
				BG	*BARCELONA SPORTING GOODS	23		
								_
	Gill Elastic Foam			BG	AMERICA TEAM SPORTS	23	\$11.00	\$253.00
	Crossbar #528 or							
6	approved equal	Υ		EA	HALDEMAN HOMME INC	<u>1</u> 1	\$16.00 \$16.50	\$16.00 \$16.50
					VARSITY BRANDS HOLDINGS CO	•	ψ10.50	ψ10.50
				EA	INC	1	\$17.32	\$17.32
				EA	*BARCELONA SPORTING GOODS	1		
				EA	THE PROPHET CORP	1	\$22.94	\$22.94
				EA	AMERICA TEAM SPORTS	1	\$27.00	\$27.00
					*ALUMINUM ATHLETIC			•
	Gill Starting Blocks #412			EA	EQUIPMENT COMPANY	1		
	with aluminum pedals							
	attached to chrome steel rails	4NS		EA	SCHOOL SPECIALTY INC	4	\$46.05	\$184.20
•								·
		4NS 4NS		EA EA	PYRAMID SCHOOL PRODUCTS THE PROPHET CORP	4	\$75.00 \$84.74	\$300.00 \$338.96
		4NS		EA	MFAC LLC	4	\$84.95	\$339.80
		4NS		EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	4		
		CNIT						
		Υ		EA	HALDEMAN HOMME INC VARSITY BRANDS HOLDINGS CO	4	\$98.00	\$392.00
				EA	INC	4	\$103.77	\$415.08
				EA	AMERICA TEAM SPORTS	4	\$110.00	\$440.00
							ψ110.00	ψ-10.00
				EA	*BARCELONA SPORTING GOODS	4		
	Gill Indoor Starting Blocks							
8	#417 or approved equal			EA	HALDEMAN HOMME INC VARSITY BRANDS HOLDINGS CO	8	\$25.00	\$200.00
				EA	INC	8	\$28.98	\$231.84
			-					

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	AMERICA TEAM SPORTS	8	\$40.00	\$320.00
	Gill Pacer One Vaulting							
	Pole #540050 13'-weight sent when order is placed							
9	or approved equal			EA	HALDEMAN HOMME INC	1	\$282.00	\$282.00
				EA	VARSITY BRANDS HOLDINGS CO	1	\$329.98	\$329.98
				EA	AMERICA TEAM SPORTS	1	\$375.00	\$375.00
				LA	AMERICA TEAM OF ORTO	•	ψ3/3.00	ψ57 3.00
				EA	MFAC LLC	1	\$430.00	\$430.00
	Gill Fiberglass Tape Measure 165" #987 or							
10	approved equal	4MO		EA	PYRAMID SCHOOL PRODUCTS	1	\$8.25	\$8.25
		Υ		EA EA	THE PROPHET CORP	1	\$10.24 \$19.00	\$10.24 \$10.00
				EA	*ALUMINUM ATHLETIC	-	\$19.00	\$19.00
				EA	EQUIPMENT COMPANY	1		
				EA	HALDEMAN HOMME INC	1	\$21.00	\$21.00
					VARSITY BRANDS HOLDINGS CO	,	t 22.00	¢00.00
				EA	INC	1	\$22.98	\$22.98
				EA	AMERICA TEAM SPORTS	1	\$27.00	\$27.00
	Gill Scholastic High Jump Standards #5880-01 or							
11	approved equal	4NS		EA	SCHOOL SPECIALTY INC	2	\$97.32	\$194.64
		Υ		EA	*ALUMINUM ATHLETIC	2	\$522.00	\$1,044.00
				EA	EQUIPMENT COMPANY	2		
				EA	MFAC LLC	2	\$605.00	\$1,210.00
					VARSITY BRANDS HOLDINGS CO		407400	A 4 A 4 A AA
				EA	INC	2	\$674.98	\$1,349.96
	Gill Collegiate Starting			EA	AMERICA TEAM SPORTS	2	\$700.00	\$1,400.00
	Block #410 or approved				*ALUMINUM ATHLETIC			
12	equal	Υ		EA	EQUIPMENT COMPANY	1		
				EA	HALDEMAN HOMME INC	1	\$144.00	\$144.00
					VARSITY BRANDS HOLDINGS CO			
				EA	INC	1	\$158.98	\$158.98
				EA	MFAC LLC	1	\$165.00	\$165.00
				EA	*BARCELONA SPORTING GOODS	1		
				† <u></u> -		-		
	Gill Pacer Stainless Steel			EA	AMERICA TEAM SPORTS	1	\$200.00	\$200.00
,-	Shot 4K #735940 or							
13	approved equal			EA	MFAC LLC HALDEMAN HOMME INC	<u>1</u> 1	\$88.00	\$88.00
					*ALUMINUM ATHLETIC			
-				EA	EQUIPMENT COMPANY VARSITY BRANDS HOLDINGS CO	1		
				EA	INC	1	\$108.98	\$108.98
				EA	AMERICA TEAM SPORTS	1	\$125.00	\$125.00
				EA		1		
	l	1		LA	*BARCELONA SPORTING GOODS	1		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	GII Agility Rocker Hurdles							
	#TA16710 10" - royal or approved equal			EA	HALDEMAN HOMME INC	12	\$16.00	\$192.00
					VARSITY BRANDS HOLDINGS CO			
				EA	INC	12	\$19.98	\$239.76
				EA	AMERICA TEAM SPORTS	12	\$25.00	
				EA	MFAC LLC	12	\$27.00	\$324.00
	Gill #VP400 - Scholastics I High Jump Landing System Value Pack - includes 1 64111 scholastic landing system 1 6411102 royal weather cover 1 pair #7040 high							
15	jump standards 1 #522 essential HJ crossbar	4NS		кт	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	1		
		Υ		KT	*BARCELONA SPORTING GOODS	1		
				КТ	MFAC LLC	1	\$5,895.00	\$5,895.00
					VARSITY BRANDS HOLDINGS CO			
				KT	INC	1	\$5,999.98	\$5,999.98
							***	40 -00 00
				KT	HALDEMAN HOMME INC	1	\$6,723.00	\$6,723.00
16	Hurdle Trainers #8880A or approved equal	Υ		EA	MFAC LLC	4	\$99.95	\$399.80
	PB Elite Foam Rollers 6"				VARSITY BRANDS HOLDINGS CO			
17	#2066A or approved equal	Υ		EA EA	INC MFAC LLC	6	\$13.98 \$19.95	
							·	·
	PB Elite Foam Rollers 3"			EA	HALDEMAN HOMME INC	6	\$23.00	\$138.00
	#2201-01 or approved							
18	equal	Υ		EA	MFAC LLC	6	\$10.95	\$65.70
				EA	HALDEMAN HOMME INC	6	\$33.00	\$198.00
	Elastic Foam Crossbar			LA	VARSITY BRANDS HOLDINGS CO	0	φ55.00	\$190.00
19	#5883-01 or approved	Υ		SET	INC	2	\$9.98	\$19.96
				SET	HALDEMAN HOMME INC	2	\$15.00	\$30.00
				JEI	TIALDEMIAN TIOMME INC		ψ13.00	ψ30.00
				SET	MFAC LLC	2	\$16.50	\$33.00
	First Place 1.6KG Super Spin Discus #6009-1.6 ABS Plastic Side Plates			021	In the EEG		Ų10.00	\$00.00
20	with wider steel rim or approved equal	Υ		EA	THE PROPHET CORP	1	\$60.34	\$60.34
20	approved equal							
-				EA	*ALUMINUM ATHLETIC	11	\$77.00	\$77.00
				EA	EQUIPMENT COMPANY	1	**	A
				EA	MFAC LLC	1	\$99.00	\$99.00
	E' 21 21			EA	*BARCELONA SPORTING GOODS	1		
	First Place Black High Spin Discus 1.6KG #600-				*ALUMINUM ATHLETIC			
21	1.6 or approved equal	Υ		EA	EQUIPMENT COMPANY	3	# 400.00	#207.6 2
		[EA	MFAC LLC	3	\$129.00	\$387.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	HALDEMAN HOMME INC	3	\$145.00	\$435.00
				EA	THE PROPHET CORP	3	\$161.44	\$484.32
				EA	*BARCELONA SPORTING GOODS	3		
				LA	BARGELONA OF ORTHWO GOODS			
	First Place Turned Iron Shot 12 lb. 108m #6036-12-							
22	108 or approved equal	Υ		EA	*BARCELONA SPORTING GOODS	1		
				EA EA	MFAC LLC HALDEMAN HOMME INC	1	\$52.00 \$57.00	\$52.00 \$57.00
					VARSITY BRANDS HOLDINGS CO		ψ31.00	ψ37.00
				EA	INC	1	\$67.98	\$67.98 \$75.04
				EA	THE PROPHET CORP *ALUMINUM ATHLETIC	1	\$75.94	\$75.94
				EA	EQUIPMENT COMPANY	1		
	First Place Cast Iron Shot 12 lb. #6031-12 or				VARSITY BRANDS HOLDINGS CO			
23	approved equal	Υ		EA	INC	2		
				EA	HALDEMAN HOMME INC	2	\$24.00	\$48.00
				EA	*BARCELONA SPORTING GOODS	2		
				EA	MFAC LLC *ALUMINUM ATHLETIC	2	\$25.00	\$50.00
				EA	EQUIPMENT COMPANY	2		
24	Shot & Discus Carriers #6082-01 or approved	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$4.98	\$9.96
24	#6062-01 or approved	r		EA	INC	2	\$4.90	\$9.90
				EA	*BARCELONA SPORTING GOODS	2	£44.00	¢00.00
				EA	MFAC LLC *ALUMINUM ATHLETIC		\$14.00	\$28.00
				EA	EQUIPMENT COMPANY	2		
				EA	HALDEMAN HOMME INC	2	\$31.00	\$62.00
	First Place International						*	• • • • • • • • • • • • • • • • • • • •
25	Starting Blocks #6632-01 or approved equal	4MO		EA	PYRAMID SCHOOL PRODUCTS	2	\$75.00	\$150.00
		41010		EA	MFAC LLC	2	\$84.95	\$169.90
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	2		
					Eggii MERT GOMI ART			
				EA	HALDEMAN HOMME INC	2	\$144.00	\$288.00
	First Place Stop Watches							
26	#6575A or approved equal	Υ		EA	HALDEMAN HOMME INC	6	\$16.00	
				EA	MFAC LLC	6	\$23.95	\$143.70
				EA	PYRAMID SCHOOL PRODUCTS	6	\$24.95	\$149.70
				EA	SCHOOL SPECIALTY INC	6	\$24.96	\$149.76
				LA	*ALUMINUM ATHLETIC	U	φ24.30	\$145.70
				EA	EQUIPMENT COMPANY	6		
	First Place Pole Vault							
07	Cross Bar #5882-01 14'10"				III SEMANUOME INO		* 54.00	254.00
27	or approved equal	Υ		EA	HALDEMAN HOMME INC	1	\$51.00	\$51.00
				EA	*BARCELONA SPORTING GOODS	1		
					*ALUMINUM ATHLETIC			
				EA EA	EQUIPMENT COMPANY MFAC LLC	1	\$158.00	\$158.00
	First Place High Jump			LA	IIII AV LLV	<u>'</u>	ψ130.00	φ130.00
00	Crossbar #5882-01 13'1"	V			HALDEMAN HOMME INC	1	CF4.00	¢54.00
28	or approved equal	Υ		EA	HALDEMAN HOMME INC	1	\$51.00	\$51.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	*BARCELONA SPORTING GOODS	1		
					*ALUMINUM ATHLETIC			
				EA EA	EQUIPMENT COMPANY MFAC LLC	1	\$156.00	\$156.00
	First Place 6" Plyo Boxes #3409-12 or approved						·	
	equal	Υ		EA	SCHOOL SPECIALTY INC	4	\$41.25	\$165.00
				EA	PYRAMID SCHOOL PRODUCTS	4	\$52.00	\$208.00
				EA	HALDEMAN HOMME INC	4	\$75.00	\$300.00
				EA	MFAC LLC	4	\$99.95	\$399.80
	First Place 12" Plyo Boxes						,	•
	#3409-12 or approved equal	Υ		EA	SCHOOL SPECIALTY INC	1	\$53.74	\$53.74
				EA	PYRAMID SCHOOL PRODUCTS	1	\$65.00	\$65.00
				EA	HALDEMAN HOMME INC	1	\$85.00	\$85.00
				EA	MFAC LLC	1	\$107.95	\$107.95
	First Place 18" Plyo Boxes #3409-18or approved							
	equal	Υ		EA	SCHOOL SPECIALTY INC	1	\$61.88	\$61.88
				EA	PYRAMID SCHOOL PRODUCTS	1	\$75.00	\$75.00
				EA	HALDEMAN HOMME INC	1	\$95.00	\$95.00
				EA	MFAC LLC	1	\$127.95	\$127.95
	First Place Stretch Out Strap #2233-01 or							
	approved equal			EA	HALDEMAN HOMME INC	4	\$5.00	
				EA	MFAC LLC	4	\$16.00	\$64.00
33	Banana Steps 18" #9614A or approved equal	4MO		EA	PYRAMID SCHOOL PRODUCTS	5	\$7.00	\$35.00
		Υ		EA	*BARCELONA SPORTING GOODS	5		
				EA EA	HALDEMAN HOMME INC MFAC LLC	5 5	\$14.00 \$54.00	
	Komelon Fiberglass Tape Measure 100 ft. #4281A no			271	MI 70 220		фочноо	Ψ2. 0.00
	subs	Υ		EA	HALDEMAN HOMME INC *ALUMINUM ATHLETIC	3	\$14.00	\$42.00
				EA	EQUIPMENT COMPANY	3	*	
				EA	MFAC LLC	3	\$17.50	\$52.50
	Komelon Fiberglassl Tape Measure #4282A no subs			EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	3		
				EA	HALDEMAN HOMME INC	3	\$27.00	
	Komelon Fiberglass Tape			EA	MFAC LLC	3	\$29.95	\$89.85
	Measure 330 ft. #4283A no subs	Υ		EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	1		
				EA	HALDEMAN HOMME INC	1	\$42.00	\$42.00
				EA	MFAC LLC	1	\$47.95	\$47.95

Line		Award	_			_		Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Blazer Elite High School Hurdles #1134 Silver							
	tubes with ATHLETICS'in							
	black on board no subs need to match existing							
37	hurdles	Υ		EA	AMERICA TEAM SPORTS	10	\$140.00	\$1,400.00
				EA	HALDEMAN HOMME INC	10	\$160.00	\$1,600.00
				EA	*BARCELONA SPORTING GOODS	10		
	Adidas Response Boost			EA	MFAC LLC	10	\$182.00	\$1,820.00
	LT Shoe #7541 or							
	approved equal, Navy/Silver Met, sizes to							
	follow when order is							
38	placed	Υ		PR	AMERICA TEAM SPORTS	9	\$57.00	\$513.00
	Adidas Men's Ultra Boost Shoes royal/white or							
	approved equal, Sizes to							
	follow when order is						405.00	A=10.00
39	placed ups Jacket #8150236 &	Υ		PR	AMERICA TEAM SPORTS	6	\$85.00	\$510.00
	Pant #8150237 navy with							
	white running mustang							
	left side of jacket & pant - number on back neck of							
	jacket or approved equal,							
	Navy with white running							
	white running mustang Left side of jacket & pant							
	Number on back neck of							
40	jacket Sizes & numbers to	4NS		SET	GTM SPORTSWEAR	10	\$51.10	\$511.00
	ups Jacket #8150236 & Pant #8150237 navy with							
	white running mustang							
	left side of jacket & pant -							
	number on back neck of jacket or approved equal,							
	Navy with white running							
	white running mustang							
	Left side of jacket & pant Number on back neck of							
40	jacket Sizes & numbers to	Υ		SET	AMERICA TEAM SPORTS	10	\$69.00	\$690.00
				SET	*BARCELONA SPORTING GOODS	10		
	Adidas Utility Warm-ups							
	Jacket #6711 Pant #6721							
	maroon/white or approved equal, Dark							
	green with embroidery on							
	chest & number back neck	3						
	Pant embroidered on left leg & number back							
41	waistband	4NS		SET	GTM SPORTSWEAR	39	\$46.20	\$1,801.80
				O==	AMERICA TEAM ORORES		***	00.440.00
		Υ		SET	AMERICA TEAM SPORTS	39	\$62.00	\$2,418.00
				SET	*BARCELONA SPORTING GOODS	39		

Line		Award	Danasa	LIOM	Complian	04	Duine	Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Adidas Women's Utility							
	Compression Tank #4742 white with "SACHSE" in							
	navy outlined in orange across center or approved							
42	equal, Onix/White	Υ		EA	AMERICA TEAM SPORTS	20	\$22.50	\$450.00
				EA	GTM SPORTSWEAR	20	\$24.50	\$490.00
				EA	*BARCELONA SPORTING GOODS	20		
	Adidas Mi Team Custom Sublimated Track Top							
	withe custom printing or approved equal, White							
	SACHSE'havy outlined in orange Sizes to follow							
43	when order is placed	4NS		EA	GTM SPORTSWEAR	30	\$24.50	\$735.00
		Υ		EA	AMERICA TEAM SPORTS	30	\$26.95	\$808.50
	Adidas Utility Compression Tank #4742							
	or approved equal, Collegiate Navy/White							
	SACHSE'white outlined in orange Sizes to follow							
44	when order is placed	4NS		EA	GTM SPORTSWEAR	30	\$15.05	\$451.50
				EA	AMERICA TEAM SPORTS	30	\$22.00	\$660.00
				EA	*BARCELONA SPORTING GOODS	30		
	Adidas Utility Singlet Top							
	#4745 maroon/white with white lettering or							
	approved equal, black with Gold Kansas Font							
45	Garland"	4NS		EA	GTM SPORTSWEAR	20	\$15.40	\$308.00
		Υ		EA	AMERICA TEAM SPORTS	20	\$16.00	\$320.00
				EA	*BARCELONA SPORTING GOODS	20		
	Adidas Utility Running Short #719P black or							
46	approved equal, black	Υ		PR	AMERICA TEAM SPORTS	10	\$14.75	\$147.50
				PR	GTM SPORTSWEAR	10	\$15.40	\$154.00
	Adidas Utility Running			PR	*BARCELONA SPORTING GOODS	10		
	Short #7837152709 navy/white with two color							
4-	logo on left leg or approved equal,				AMERICA TEAM ORORTO	45	***	40== 5
47	Black/White	Υ		PR	AMERICA TEAM SPORTS	15	\$18.50	\$277.50
				PR	GTM SPORTSWEAR	15	\$19.60	\$294.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				PR	*BARCELONA SPORTING GOODS	15		
	Adidas Techfit 9'tight #AJ5038 black or							
	approved equal, Collegiate Navy Sizes to							
	follow when order is							
48	placed	4NS		PR	GTM SPORTSWEAR	10	\$11.90	\$119.00
		Υ		PR	AMERICA TEAM SPORTS	10	\$12.40	\$124.00
	Adidas Techfit ¾'tight			PR	*BARCELONA SPORTING GOODS	10		
40	#AJ2256 or approved				0711 0D0D70W7.4D	4-	440.50	4455.50
49	equal, black	4NS		PR	GTM SPORTSWEAR	15	\$10.50	\$157.50
		Υ		PR	AMERICA TEAM SPORTS	15	\$18.00	\$270.00
				PR	*BARCELONA SPORTING GOODS	15		
	Adidas Women's Techfit 4							
50	tight #CD9592 black or approved equal, black	Υ		PR	AMERICA TEAM SPORTS	20	\$13.95	\$279.00
- 00	approcess oqually macri						710.00	<u> </u>
				PR	GTM SPORTSWEAR	20	\$14.70	\$294.00
				PR	*BARCELONA SPORTING GOODS	20		
	Adidas Performance							
	Women's Performer Mid- rise 3/4 Tight #F14APW812							
	or approved equal,							
	Collegiate Navy Sizes to follow when order is							
51	placed	Υ		PR	AMERICA TEAM SPORTS	15	\$17.50	\$262.50
				PR	*BARCELONA SPORTING GOODS	15		
				PR	GTM SPORTSWEAR	15	\$30.10	\$451.50
	Adidoo TE Book Chart							
	Adidas TF Base Short Tight #5577403434 or							
	approved equal, Navy Blue (Heather College)							
	with SACHSE'In white -							
	Back center - orange running mustang Running							
50	to right Sizes to follow			55	OTM CDODTOWS AD	22	***	***
52	when order is placed	4NS		PR	GTM SPORTSWEAR	20	\$18.90	\$378.00
		Υ		PR	AMERICA TEAM SPORTS	20	\$18.95	\$379.00
					AMENIOA TEAM OF ORTO		Ψ10.33	\$313.00
				PR	*BARCELONA SPORTING GOODS	20		
	ļ			ΓK	PARCETONA SEOKTING GOODS	20	<u> </u>	

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Adidas Modern Varsity Training Hood #SD5 with white lettering approved equal, Collegiate Navy/Heather Grey Block S'white outlined in navy on left chest Sizes to follow when order is							
53	placed	Υ		EA	AMERICA TEAM SPORTS	15	\$18.75	\$281.25
				EA	GTM SPORTSWEAR	15	\$21.70	\$325.50
	Adidas Women's Tiro Training 17 Pant #BK0350 or approved equal, Collegiate Navy/White with white running mustang on top left of pant, sizes to follow when							
54	order is placed	Υ		PR	AMERICA TEAM SPORTS	15	\$22.95	\$344.25
				PR	GTM SPORTSWEAR	15	\$32.20	\$483.00
				FK	GTW SPORTSWEAR	13	φ32.20	φ403.00
				PR	*BARCELONA SPORTING GOODS	15		
55	Adidas Alphaskin Sleeveless top #843T005 with two color lettering or approved equal, University Red/Collegiate Blue/White	Y		EA	AMERICA TEAM SPORTS	20	\$15.00	\$300.00
55	Bide/Writte	Y		LA	AWERICA TEAW SPORTS	20	φ15.00	\$300.00
				EA	*BARCELONA SPORTING GOODS	20		
				EA	GTM SPORTSWEAR	20	\$21.00	\$420.00
	Adidas Team 19 Running Short #12VH049 or approved equal, Collegiate Blue/University							
56	Red/White	Υ		PR	AMERICA TEAM SPORTS	20	\$15.00	\$300.00
	Adidos Caribon II Doolaroola			PR	GTM SPORTSWEAR	20	\$19.60	\$392.00
	Adidas Striker II Backpack #5142808 with one color lettering or approved equal,							
57	Maroon/Black/White	4NS		EA	GTM SPORTSWEAR	12	\$23.45	\$281.40
		Y		EA	AMERICA TEAM SPORTS	12	\$32.00	\$384.00
				EA	*BARCELONA SPORTING GOODS	12		

Line		Award						Extended
#	Item Description Adidas Tournament II	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Sackpack #5141254 with one color lettering or approved equal, black With gold Greenbay G" outlined in white number						***	4070 70
58	below	Υ		EA	AMERICA TEAM SPORTS	30	\$11.95	\$358.50
				EA	GTM SPORTSWEAR	30	\$17.85	\$535.50
	Adidas II Backpack			EA	*BARCELONA SPORTING GOODS	30		
	#5133553 or approved equal Navy white white running mustang outlined							
59	in orange	Υ		EA	AMERICA TEAM SPORTS	20	\$12.95	\$259.00
				EA	GTM SPORTSWEAR	20	\$24.50	\$490.00
				EA	*BARCELONA SPORTING GOODS	20		
	Adidas Team Strength Backpack #5136513 with one color lettering & number or approved equal, Collegiate Navy/White, sizes to follow when order is							
60	placed	4NS		EA	GTM SPORTSWEAR	10	\$25.90	\$259.00
		Υ		EA	AMERICA TEAM SPORTS	10	\$45.00	\$450.00
	Adidas Defender II Duffle			EA	*BARCELONA SPORTING GOODS	10	·	
	Bag #5144007 with one color lettering or approved equal, black/SGD with gold Greenbay G'Outlined in white on left chest Sizes							
61	to follow when order is placed	Υ		EA	AMERICA TEAM SPORTS	25	\$25.95	\$648.75
				EA	GTM SPORTSWEAR	25	\$28.70	
								ţ
				EA	*BARCELONA SPORTING GOODS	25		
	Adidas Defender II Large Duffle Bag #5144009 with white lettering or approved equal, Steel/Black/White Sizes to follow when order is							
62	placed	Y		EA	AMERICA TEAM SPORTS	25	\$25.95	\$648.75
				EA	GTM SPORTSWEAR	25	\$28.70	\$717.50

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	*BARCELONA SPORTING GOODS	25		
	Adidas Utility Singlet Top #4745013 white with three color logo on front or approved equal, Black/White Sizes to follow when order is							
63	placed	4NS		EA	GTM SPORTSWEAR	10	\$18.90	\$189.00
		Υ		EA	*BARCELONA SPORTING GOODS	10		
				EA	AMERICA TEAM SPORTS	10	\$22.00	\$220.00
	Adidas Techfit Sleeveless Shirt with two color logo on front or approved							
64	equal, White/Black	4NS		EA	AMERICA TEAM SPORTS	22	\$15.25	\$335.50
		Υ		EA	*BARCELONA SPORTING GOODS	22		
				EA	GTM SPORTSWEAR	22	\$21.00	\$462.00
65	Nike Zoom Rival SD4 Track Shoes #685135 017 or approved equal, Black/Anthracite/Lime Sizes to follow when order is placed Nike Womens Zoom Rival			PR	*BARCELONA SPORTING GOODS	4		
	S Track Shoes #6558414 or approved equal, black/white/gray			PR	*BARCELONA SPORTING GOODS	6		
	Nike Zoom Winflo 4 Shoes #898485 001 or approved equal, white/black/racer	ND			5, 10, 51, 51, 11, 10, 10, 10, 10, 10, 10, 10, 10, 1		ND	ND
67	blue	NB				6	NB	NB
	Nike Zoom Rival XC Celar Spike Shoes or approved equal, Black/White	Υ		PR	*BARCELONA SPORTING GOODS	15		
	Nike Men's Air Max Full Ride TR 1.5 Shoes #869633 060 or approved equal, Chalk Blue/White/Racer Blue/Hyper Orange Sizes to follow when order is							
69	placed	NB				2	NB	NB
70	Nike Tanjun Track Shoes - grey or approved equal	NB				3	NB	NB
	Nike Men's Metcon DSX Flyknit Shoes #852930 003 or approved equal, Black/White/Wolf Grey/Volt Sizes to follow							
71	when order is placed	NB				6	NB	NB

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
72	Nike Metcon DSX Flyknit Shoes #852930-002 or approved equal, Dark Grey/University Red/Black/White Sizes to follow when order is placed	NB				5	NB	NB
	Nike Women's Pro Tank #897827 010 - black/white with red script "North" across chest or approved equal, Black/Pure Platinum/White Sizes to follow when order is							
73	placed	4NS		EA	GTM SPORTSWEAR	30	\$7.00	\$210.00
		Υ		EA	VARSITY BRANDS HOLDINGS CO	30	\$18.25	\$547.50
				EA	*BARCELONA SPORTING GOODS	30		
	Nike Women's Dry Tempo Short #849585 019 - black with white interlocking "NG" on right leg or approved equal, Racer Blue/Light							
	Photo/blue/Volt/Black	4NS		PR	GTM SPORTSWEAR	30	\$16.80	\$504.00
		4NS		PR	*BARCELONA SPORTING GOODS	30		
				PR	VARSITY BRANDS HOLDINGS CO	30	\$18.25	\$547.50
75	Nike KO Training Hoodie #3325A with two color lettering fill-ins no subs			PR	*BARCELONA SPORTING GOODS	10		
				PR	VARSITY BRANDS HOLDINGS CO	10	\$35.50	\$355.00
	Nike Men's Therma Training Pant #800191 091 or approved equal, Team Red/White/Black, sizes to follow when order is							
76	placed	4NS		PR	GTM SPORTSWEAR VARSITY BRANDS HOLDINGS CO	5	\$14.00	\$70.00
		Y		PR	INC	5	\$28.87	\$144.35
				PR	*BARCELONA SPORTING GOODS	5		
	Nike Women's NSW Windrunner Jacket #898725 494 or approved equal, Scarlet/White/White with white cursive North" Outlined in black Sizes to							
77	follow when order is place	4NS		EA	GTM SPORTSWEAR VARSITY BRANDS HOLDINGS CO	5	\$30.10	\$150.50
		Υ		EA	INC	5	\$60.50	\$302.50
				EA	*BARCELONA SPORTING GOODS	5		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
	Nike Team NSW Windrunner Jacket #898730 494 or approved equal, Scarlet/Scarlet/Black with two color logo White outlined in black cursive North Sizes to follow							
I	when order is placed	4NS		EA	GTM SPORTSWEAR	5	\$30.10	\$150.50
		Υ		EA	*BARCELONA SPORTING GOODS	5		
				EA	VARSITY BRANDS HOLDINGS CO	5	\$72.50	\$362.50
	Nike Therma 1/2 Zip core Top #854498 480 or approved equal, dark green/white NF'on chest							
79	orange outlined in white	4NS		EA	GTM SPORTSWEAR VARSITY BRANDS HOLDINGS CO	15	\$21.70	\$325.50
		Υ		EA	INC	15	\$33.75	\$506.25
					*PAROELONA ORORTINO COORO	45		
	Nike Women's Legend Long Sleeve Shirt #453182 657 with two color lettering or approved equal, Black/White/White with one color logo & small number Sizes to follow when order is			EA	*BARCELONA SPORTING GOODS	15		
	placed	4NS		EA	GTM SPORTSWEAR	25	\$11.55	\$288.75
		Y		EA	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC	25 25	\$20,50	\$512.50
	Nike Men's Legend Polyester Top - short sleeve #279824190 with two color lettering or approved equal, Dark							
81	Green/White	4NS		EA	GTM SPORTSWEAR	10	\$11.90	\$119.00
		Y		EA	*BARCELONA SPORTING GOODS VARSITY BRANDS HOLDINGS CO INC	10 10	\$18.90	\$189.00
	Nike 1/2 Zip Top #908359 017 or approved equal, Dark Green	4NS		EA	GTM SPORTSWEAR	6	\$28.00	·
		Y		EA	*BARCELONA SPORTING GOODS	6		
					VARSITY BRANDS HOLDINGS CO	6	\$42.00	\$252.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
		,			• •			
	Nike Lockdown HZ Jacket							
	#746950 017 with one color embroidered							
	lettering on left chest or							
	approved equal,							
	Black/Black/Black with							
	one color logo on left							
	pocket Small white number, sizes to follow							
83	when order is placed	4NS		EA	GTM SPORTSWEAR	8	\$27.30	\$218.4
					VARCITY PRANCE HOLDINGS CO.			
		Υ		EA	VARSITY BRANDS HOLDINGS CO	8	\$53.40	\$427.2
							,	*
	Nike Women's Pro Cool 3							
	Short Compression Tight or approved equal, TM							
	Royal/TM White/TM White							
	with Vegas Gold				VARSITY BRANDS HOLDINGS CO			
84	Interlocking LC'top left leg	Υ		PR	INC	30	\$19.90	\$597.0
				PR	GTM SPORTSWEAR	30	\$37.10	\$1,113.00
	Nike Performers Tights							
	#568P or approved equal,							
	Dark green with white 4"				VARSITY BRANDS HOLDINGS CO			
85	NF'outlined in orange	Υ		PR	INC	30	\$21.75	\$652.5
				PR	*BARCELONA SPORTING GOODS	30		
				PR	GTM SPORTSWEAR	30	\$37.10	\$1,113.0
	Nike Short Sleeve T-Shirt							
	with one color lettering or							
	approved equal, Dark							
	Green/White with white 4"							
86	NF'outlined in orange on left pocket	Υ		EA	GTM SPORTSWEAR	30	\$11.20	\$336.0
							VV	
					VARSITY BRANDS HOLDINGS CO			
				EA	INC	30	\$15.75	\$472.50
				EA	*BARCELONA SPORTING GOODS	30		
	Nike Long Sleeve Dri-fit							
	Shirts with one color							
	lettering or approved							
	equal, Game Royal/Cool							
87	Grey Vegas Gold interlocking LC'centered	Υ		EA	GTM SPORTSWEAR	30	\$13.30	\$399.0
	5							
					VARSITY BRANDS HOLDINGS CO		<u>.</u> .	4.
				EA	INC	30	\$18.50	\$555.00
				EA	*BARCELONA SPORTING GOODS	30		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Nike Club Team Swoosh Backpack #BA5190 493 with one color lettering & number or approved equal, Dark Grey Heather with navy lettering outlined in orange MUSTANG'TRACK & FIELD'Sizes to follow							
88	when order is placed	Υ		EA	GTM SPORTSWEAR	25	\$24.15	\$603.75
				EA	VARSITY BRANDS HOLDINGS CO INC	25	\$32.75	\$818.75
				EA	*BARCELONA SPORTING GOODS	25		
89	Russell Dri-power Hooded Sweatshirt #69511BMI &	4NS		SET	GTM SPORTSWEAR	12	\$21.00	\$252.00
	Children and Children and Children	Y			AMERICA TEAM SPORTS	12	\$37.00	
				SET	VARSITY BRANDS HOLDINGS CO INC	12	\$37.25	\$447.00
				SET	*BARCELONA SPORTING GOODS	12		
				SET	KNOCKOUT SPORTSWEAR.COM LLC	12	\$42.00	\$504.00
90	Russell Hooded Sweatshirt #695HBM1 &	4NS		SET	GTM SPORTSWEAR	18	\$23.10	\$415.80
					VARSITY BRANDS HOLDINGS CO			
		Υ		SET	INC	18	\$33.85	\$609.30
				SET	*BARCELONA SPORTING GOODS	18		
				SET	AMERICA TEAM SPORTS KNOCKOUT SPORTSWEAR.COM	18	\$37.00	\$666.00
				SET	LLC	18	\$42.00	\$756.00
91	Russell Hooded Sweatshirt #695HBM1 &	4NS		SET	GTM SPORTSWEAR	25	\$24.50	\$612.50
		Υ		SET	AMERICA TEAM SPORTS	25	\$28.95	\$723.75
				SET	*BARCELONA SPORTING GOODS	25		
				SET	VARSITY BRANDS HOLDINGS CO	25	\$37.25	\$931.25
				JEI			ψ31.23	ψ331.23
				SET	KNOCKOUT SPORTSWEAR.COM LLC	25	\$42.00	\$1,050.00
	Sweatshirt #695HBM1 & Pant #696HBM0 or approved, (fill-ins) Black Heather with royal blue block lettering center of shirt PATRIOTS'with winged shoe -number inside (1-35) Five without							
	numbers Pant winged	4NS		SET	GTM SPORTSWEAR	40	\$18.85	\$754.00
		Υ		SET	AMERICA TEAM SPORTS VARSITY BRANDS HOLDINGS CO	40	\$28.95	\$1,158.00
				SET	INC	40	\$33.85	\$1,354.00
				SET	*BARCELONA SPORTING GOODS	40		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	0 0.10 0.10	Qty	Price	Price
				SET	KNOCKOUT SPORTSWEAR.COM LLC	40	\$42.00	\$1,680.00
	Russell Men's Basic Cotton Long Sleeve Tee with two color lettering or approved equal, black with gold outlined in white Greenbay G'on							
93	chest, sizes to follow when order is placed	Υ		EA	VARSITY BRANDS HOLDINGS CO	20	\$8.30	\$166.00
				EA	*BARCELONA SPORTING GOODS	20		
				EA	AMERICA TEAM SPORTS	20	\$9.00	\$180.00
				EA	GTM SPORTSWEAR	20	\$9.45	\$189.00
				EA	KNOCKOUT SPORTSWEAR.COM	20	\$13.00	\$260.00
	A4 4'Compression Track Shorts #N5259 or							,
94	approved equal, black	Υ		PR	*BARCELONA SPORTING GOODS	36		
				PR	PYRAMID SCHOOL PRODUCTS	36	\$5.45	\$196.20
				PR	AMERICA TEAM SPORTS	36	\$5.95	\$214.20
				PR	KNOCKOUT SPORTSWEAR.COM LLC	36	\$13.00	\$468.00
				PR	GTM SPORTSWEAR	36	\$14.70	\$529.20
95	A4 Compression Short, black #N5344 or approved equal, red	Υ		PR	PYRAMID SCHOOL PRODUCTS	36	\$6.00	\$216.00
				PR	AMERICA TEAM SPORTS	36	\$6.25	\$225.00
				PR	*BARCELONA SPORTING GOODS	36		
				PR	KNOCKOUT SPORTSWEAR.COM LLC	36	\$10.00	\$360.00
				PR	GTM SPORTSWEAR	36	\$14.00	\$504.00
	A4 Compression Sleeveless Top #N2306 or approved equal, Red with							
96	black block interlocking NG'outlined in white	Υ		EA	AMERICA TEAM SPORTS	36	\$11.00	\$396.00
				EA	*BARCELONA SPORTING GOODS	36		
				EA	PYRAMID SCHOOL PRODUCTS	36	\$12.30	\$442.80
				EA	KNOCKOUT SPORTSWEAR.COM	36	\$18.00	\$648.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	GTM SPORTSWEAR	36	\$21.00	\$756.00
	A4 Short Sleeve Shirts #N31306 or approved			LA	GIWISPORISWEAR	30	φ21.00	\$130.00
07	equal, with two color				AMERICA TEAM ORORTO		47.50	\$0 7 0.00
97	lettering	Y		EA	AMERICA TEAM SPORTS	36	\$7.50	\$270.00
				EA	*BARCELONA SPORTING GOODS	36		
				EA	PYRAMID SCHOOL PRODUCTS	36	\$12.59	\$453.24
				EA	GTM SPORTSWEAR	36	\$13.30	\$478.80
				EA	KNOCKOUT SPORTSWEAR.COM LLC	36	\$18.00	\$648.00
	A4 League Pant #N6199 or approved equal , red	Y		PR	AMERICA TEAM SPORTS	30	\$16.70	\$501.00
				PR	PYRAMID SCHOOL PRODUCTS	30	\$17.15	\$514.50
				PR	GTM SPORTSWEAR	30	\$17.50	\$525.00
				PR	*BARCELONA SPORTING GOODS	30		
				PR	KNOCKOUT SPORTSWEAR.COM	30	\$27.50	\$825.00
	Holloway Ladies Vent Bra #HL223300 or approved							
99	equal	Υ		EA	AMERICA TEAM SPORTS	55	\$11.95	\$657.25
				EA	*BARCELONA SPORTING GOODS	55		
				EA	KNOCKOUT SPORTSWEAR.COM	55	\$14.50	\$797.50
				EA	VARSITY BRANDS HOLDINGS CO	55	\$15.75	\$866.25
							-	
				EA	GTM SPORTSWEAR	55	\$18.20	\$1,001.00
	Holloway Comeback Glove #HL223838 or approved equal,							
	Navy/White with Sachse logo and numbers	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	8	\$11.70	\$93.60
				EA	*BARCELONA SPORTING GOODS	8		
				EA	AMERICA TEAM SPORTS	8	\$25.00	\$200.00
40:	Track Rule Books 2018-				MENOLIC	40		^^~
101	2019 or approved equal			EA	MFAC LLC	40	\$9.95	\$398.00
				EA	AMERICA TEAM SPORTS	40	\$11.95	\$478.00
				EA	VARSITY BRANDS HOLDINGS CO	40	\$16.98	\$679.20
		1		EA	*BARCELONA SPORTING GOODS	40		

Allus Carbon Eite Pole Value Fole Weight & ength sent when order is Sength sent when order is Sent sent sent when order is Sent sent sent when order is Sent sent sent sent when order is Sent sent sent sent sent sent sent sent s	Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
102 102 103 104 105		Altius Carbon Elite Pole	(1714)	Reason	OOM	Oupplier	Qty	11100	11100
EA BARCELONA SPORTING GOODS 2		length sent when order is			EΔ		2	\$595.00	\$1,190.00
Robic #SC-999 Triple Famous Famou	102	dolle no subs				EQUIFWENT COMPANT		\$393.00	\$1,190.00
Stopwatch or approved Stop		Robic #SC-505W Black			EA	*BARCELONA SPORTING GOODS	2		
EA THE PROPHET CORP 6 \$15.84 \$95		Stopwatch or approved	Υ		EA	SCHOOL SPECIALTY INC	6	\$14.44	\$86.64
EA THE PROPHET CORP 6 \$15.84 \$95					EA	PYRAMID SCHOOL PRODUCTS	6	\$15.25	\$91.50
EA					EA		6		\$95.04
EA AMERICA TEAM SPORTS 6 \$19.77 \$118 VARSITY BRANDS HOLDINGS CO									,
VARSITY BRANDS HOLDINGS CO					EA	*BARCELONA SPORTING GOODS	6		
EA INC 6 \$19.91 \$115					EA	AMERICA TEAM SPORTS	6	\$19.77	\$118.62
Robic #SC-899 Triple Timer or approved equal Y					EA		6	\$19.91	\$119.46
Robic #SC-899 Triple Timer or approved equal Y					EA	MFAC LLC	6	\$19.95	\$119.70
Robic #SC-899 Triple Timer or approved equal Y						*ALUMINUM ATHLETIC		•	•
Timer or approved equal					LA	EQUI MENT COMI ANT	0		
VARSITY BRANDS HOLDINGS CO			Υ		EA	PYRAMID SCHOOL PRODUCTS	4	\$34.00	\$136.00
EA INC					EA	AMERICA TEAM SPORTS	4	\$39.77	\$159.08
EA					EA		4	\$39.98	\$159.92
Winchester .32 Cal Starting Blanks no subs Y BX *BARCELONA SPORTING GOODS 16 \$45.00 \$720					EA		4		
Starting Blanks no subs Y					EA	*BARCELONA SPORTING GOODS	4		
*ALUMINUM ATHLETIC BX EQUIPMENT COMPANY BX AMERICA TEAM SPORTS BX MFAC LLC BX MF			Υ		вх	*BARCELONA SPORTING GOODS	16	\$45.00	\$720.00
BX AMERICA TEAM SPORTS 16 \$57.00 \$912 BX MFAC LLC 16 \$60.00 \$960 Winchester .22 Cal Starting Blanks no subs Y EA MFAC LLC 10 \$18.00 \$180 *ALUMINUM ATHLETIC EA EQUIPMENT COMPANY 10 EA *BARCELONA SPORTING GOODS 10 EA AMERICA TEAM SPORTS 10 \$27.00 \$270 Gildan 50/50 #8000, short sleeve t-shirts No lettering		J			5.4		4.0		
BX MFAC LLC					ВХ	EQUIPMENT COMPANY	16		
Winchester .22 Cal 106 Starting Blanks no subs Y EA MFAC LLC *ALUMINUM ATHLETIC EA EQUIPMENT COMPANY 10 EA *BARCELONA SPORTING GOODS 10 EA AMERICA TEAM SPORTS 10 \$27.00 \$270 \$270 Gildan 50/50 #8000, short sleeve t-shirts No lettering					ВХ	AMERICA TEAM SPORTS	16	\$57.00	\$912.00
106 Starting Blanks no subs Y EA MFAC LLC *ALUMINUM ATHLETIC EA EQUIPMENT COMPANY 10 EA *BARCELONA SPORTING GOODS 10 EA AMERICA TEAM SPORTS 10 \$27.00 \$27.00 \$27.00					вх	MFAC LLC	16	\$60.00	\$960.00
EA *BARCELONA SPORTING GOODS 10 EA AMERICA TEAM SPORTS 10 \$27.00 \$270 Gildan 50/50 #8000, short sleeve t-shirts No lettering			Υ		EA	MFAC LLC	10	\$18.00	\$180.00
EA *BARCELONA SPORTING GOODS 10 EA AMERICA TEAM SPORTS 10 \$27.00 \$270 Gildan 50/50 #8000, short sleeve t-shirts No lettering					EA		10		
EA AMERICA TEAM SPORTS 10 \$27.00 \$27.00 Gildan 50/50 #8000, short sleeve t-shirts No lettering									
Gildan 50/50 #8000, short sleeve t-shirts No lettering								\$27.00	\$270.00
sleeve t-shirts No lettering		Gildan 50/50 #8000, short			ĽΑ	AMENICA I LAM SPORTS	10	⊅∠1.00	φ210.00
		sleeve t-shirts No lettering			EA	AMERICA TEAM SPORTS	240	\$2.62	\$628.80
EA *BARCELONA SPORTING GOODS 240					EΔ		240		

Line		Award	_					Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	VARSITY BRANDS HOLDINGS CO	240	\$2.99	\$717.60
				EA	KNOCKOUT SPORTSWEAR.COM	240	\$4.25	\$1,020.00
	Gildan 50/50 #8000 or approved equal, short sleeve t-shirts charcoal grey with three color "SOUTH TRACK" or							
108	approved equal	Υ		EA	*BARCELONA SPORTING GOODS	30		
				EA	AMERICA TEAM SPORTS	30	\$7.00	\$210.00
				EA	VARSITY BRANDS HOLDINGS CO	30	\$7.25	\$217.50
				EA	KNOCKOUT SPORTSWEAR.COM	30	\$8.00	\$240.00
				EA	GTM SPORTSWEAR	30	\$9.10	\$273.00
	Gildan 50/50 short sleeve to shirts #8000 or approved equal, dark grey with navy state of Texas with							
	mustang - back "Mustang Nation"	Υ		EA	AMERICA TEAM SPORTS	50	\$7.00	\$350.00
				EA	VARSITY BRANDS HOLDINGS CO	50	\$7.15	\$357.50
				EA	*BARCELONA SPORTING GOODS	50		
				EA	KNOCKOUT SPORTSWEAR.COM LLC	50	\$8.00	\$400.00
				EA	GTM SPORTSWEAR	50	\$9.45	\$472.50
110	Elite 4 lb. Medicine Ball #3201-04 or approved	Υ		EA	SCHOOL SPECIALTY INC	4	\$19.07	\$76.28
				EA	MFAC LLC	4	\$21.50	\$86.00
	Elite 6 lb. Medicine Ball #3201-06 or approved equal	Y		EA	SCHOOL SPECIALTY INC	4	\$22.16	\$88.64
				EA	MFAC LLC	4	\$29.50	\$118.00
	Elite 8 lb. Medicine Ball #3201-08 or approved equal	Υ		EA	SCHOOL SPECIALTY INC	4	\$24.23	
. 12								
	Technique Ramp #4918A				MFAC LLC	4	\$37.50	
	or approved equal #6605-01 - holds 10 42" "L" style hurdles or	Υ		EA	MFAC LLC VARSITY BRANDS HOLDINGS CO	1	\$399.00	\$399.00
	approved equal	Υ		EA		1	\$199.91	\$199.91

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	MFAC LLC	1	\$269.00	\$269.00
					*ALUMINUM ATHLETIC	4		
				EA	EQUIPMENT COMPANY	1		
				EA	SCHOOL SPECIALTY INC	1	\$347.22	\$347.22
	Fixed Weight L Style HS Hurdles #6660-00 or							
	approved equal	Υ		EA	MFAC LLC	12	\$130.00	\$1,560.00
					*ALUMINUM ATHLETIC			
	4 1/2" Vinyl Cone Markers,			EA	EQUIPMENT COMPANY	12		
	orange #462A or approved	V		EA	*ALUMINUM ATHLETIC	25		
116	equal	Y		EA	EQUIPMENT COMPANY	25		
				EA	MFAC LLC	25	\$6.00	\$150.00
	Gator .32 cal starting blanks #1188A or						,	·
1	approved equal	Υ		вх	MFAC LLC	4	\$49.00	\$196.00
					*ALUMINUM ATHLETIC			
	Official Flags #4618A 1 red			вх	EQUIPMENT COMPANY	4		
	& 1 white or approved						***	
118	equal	Υ		PR	MFAC LLC	4	\$12.00	\$48.00
				PR	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	4		
	Official Flags #4615A - red			110	Eggii inerti Goini /utt			
	& white on dowel or approved equal	Υ		EA	MFAC LLC	4	\$11.00	\$44.00
					*ALUMINUM ATHLETIC			
				EA	EQUIPMENT COMPANY	4		
	KBANDS extra 80-20 foot							
	or approved equal Deluxe Discus Carrier	NB		EA		12	NB	NB
	#6083-14 (holds 2) or approved equal	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$4.98	\$9.96
	•							·
				EA	PYRAMID SCHOOL PRODUCTS	2	\$5.75	\$11.50
				EA	*BARCELONA SPORTING GOODS	2		
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	2		
				EA	MFAC LLC	2	\$32.00	\$64.00
	Jungle Gym XS #7826A or							
122		Υ		EA	MFAC LLC	2	\$79.95	\$159.90
	(250 each #) #5401A or	Υ		CET	MEACLLC	2	\$05.05	\$101.00
	Track Hip Numbers #10 -			SEI	MFAC LLC	Z	\$95.95	\$191.90
	18 (25 each #) #5404A or approved equal	Υ		SET	MFAC LLC	4	\$13.00	\$52.00

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
125	Track Hip Numbers #19 - 30 (25 each #) #5407A or approved equal	Υ		SET	MFAC LLC	4	\$16.00	\$64.00
126	Megaphone #45401 or approved equal	Υ		EA	SCHOOL SPECIALTY INC	1	\$27.20	\$27.20
120	approvou oquar				CONTROL OF CONTROL		Ψ21.20	ΨΞΤΙΞΟ
				EA	MFAC LLC	1	\$67.00	\$67.00
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	1		
				EA	VARSITY BRANDS HOLDINGS CO	1	\$144.98	\$144.98
127	ABC Agility Ladder #3190SA - 30'1 (4 - 7 1/2 sections) 18 squares or	Y		EA	SCHOOL SPECIALTY INC	1	\$12.75	\$12.75
				EA	MFAC LLC	1	\$70.00	\$70.00
128	Powerfitness Chutes, medium #2002A or approved equal	Υ		EA	VARSITY BRANDS HOLDINGS CO	3	\$19.88	\$59.64
				EA	MFAC LLC	3	\$76.00	\$228.00
129	Tiger Tail 18" Deep Tissue Massage Roller #2216-18 or approved equal	Y		EA	SCHOOL SPECIALTY INC	4	\$18.56	\$74.24
				EA	MFAC LLC	4	\$25.00	\$100.00
130	Newton Elite Starting Blocks #9431A or approved equal Newton International	Υ		EA	MFAC LLC	3	\$190.00	\$570.00
131	Starting Blocks #9430A or approved equal #5234A (includes 1.6kg	Υ		EA	MFAC LLC	2	\$299.00	\$598.00
132	discus, 2 - 12 lb. shot put - 2 shot/discus carriers with handles) or approved			PKG	MFAC LLC	1	\$275.00	\$275.00
				PKG	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	1		
133	Shot & Discus Markers (set of 12) - 7 1/2" long - 18 gauge steel or	Υ		SET	MFAC LLC	1	\$19.95	\$19.95
				SET	VARSITY BRANDS HOLDINGS CO	1	\$27.88	\$27.88
				SET	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	1		
134	Mighty Spike Wrench #857A or approved equal	Υ		EA	MFAC LLC	1	\$15.00	\$15.00
135	Track Ratchet Wrench #4646A or approved equal Economy .22 Cal Starter	Υ		EA	MFAC LLC	1	\$17.00	\$17.00
136	Pistol #6634-22 or approved equal	Υ		EA	MFAC LLC	1	\$85.00	\$85.00

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
#	Ultrak SP50 Electronic	(1 / N)	Reason	OOW	Supplier	Qty	FIICE	FIICE
137	Starter Pistol #8927A or approved equal Sport-Tek Long Sleeve	Υ		EA	MFAC LLC	1	\$249.00	\$249.00
138	Shirt #ST360LS with one color lettering or	Υ		EA	VARSITY BRANDS HOLDINGS CO	10	\$11.50	\$115.00
				EA	*BARCELONA SPORTING GOODS	10		
				LA	BARCLEONA SPORTING GOODS	10		
				EA	AMERICA TEAM SPORTS	10	\$14.00	\$140.00
	Jacket #JST60 & pant			EA	GTM SPORTSWEAR	10	\$15.05	\$150.50
	#PST74 with two color lettering on jacket or							
139	approved equal	Υ		SET	AMERICA TEAM SPORTS	16	\$38.00	\$608.00
				SET	VARSITY BRANDS HOLDINGS CO	16	\$42.75	\$684.00
				SET	*BARCELONA SPORTING GOODS	16		
				02.				
				SET	GTM SPORTSWEAR	16	\$50.20	\$803.20
140	Seiko Interval Timer #S0578 - 100 memory or	Υ		EA	AMERICA TEAM SPORTS	5	\$69.00	\$345.00
140	approved equal	r		LA	AMERICA TEAM SPORTS	3	фоэ.00	\$343.00
				EA	MFAC LLC	5	\$85.00	\$425.00
				EA	*BARCELONA SPORTING GOODS	5		
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	5		
	Accusplit Stop Watch #AX740PRO - 50 memory							
141	or approved equal	Y		EA	PYRAMID SCHOOL PRODUCTS	4	\$21.75	\$87.00
				EA	MFAC LLC	4	\$28.50	\$114.00
				EA	*BARCELONA SPORTING GOODS	4		
				EA	*ALUMINUM ATHLETIC	4		
	Economy Measuring Weel #1378131 or approved			EA	EQUIPMENT COMPANY VARSITY BRANDS HOLDINGS CO	4		
142	equal	Υ		EA	INC	4	\$51.96	\$207.84
				EA	*BARCELONA SPORTING GOODS	4		

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	4		
143	Stretch Aide #TA1780 or approved equal	Υ		EA	MFAC LLC	8	\$24.95	\$199.60
				EA	VARSITY BRANDS HOLDINGS CO	8	\$26.98	\$215.84
	Champion Elite Women's Warm-up Jacket #AK01TG & Pant #AK01BL with three color logo & lettering on jacket & left thigh of pant or approved							
	equal	Υ		SET	GTM SPORTSWEAR	25	\$50.40	\$1,260.00
	Augusta Ladies #1267			SET	*BARCELONA SPORTING GOODS	25		
	Junior Fit Adrenaline Shorts with two color	Υ		PR	*BARCELONA SPORTING GOODS	50		
				PR	AMERICA TEAM SPORTS	50	\$13.70	\$685.00
				PR	VARSITY BRANDS HOLDINGS CO	50	\$15.75	\$787.50
				PR	GTM SPORTSWEAR	50	\$16.80	\$840.00
146	HOPZ Vertical Jump Trainer #1390929 or approved equal Fitness Power Ropes 2" d	Y		EA	VARSITY BRANDS HOLDINGS CO INC	4	\$49.91	\$199.64
	40' I #1369625 or approved equal			EA	VARSITY BRANDS HOLDINGS CO INC	1	\$69.98	\$69.98
	Fitness Power Ropes 1.5"			EA	SCHOOL SPECIALTY INC	1	\$107.69	\$107.69
	d - 40' I #1369621 or approved equal	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$49.98	\$49.98
				EA	SCHOOL SPECIALTY INC	1	\$62.80	\$62.80
	Fitness Blaster Power Sled #1377172 Alumagoal Fiberglass	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$219.98	\$439.96
	Measuring Tape - 100 ft. #MSTAP100 or approved	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$4.88	\$9.76
				EA	*BARCELONA SPORTING GOODS	2		
	Alumagoal Fiberglass			EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	2		
	Measuring Tape - 200 ft. #MSTAP200 or approved	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	2	\$8.24	\$16.48
				EA	*BARCELONA SPORTING GOODS	2		
				EA	*ALUMINUM ATHLETIC EQUIPMENT COMPANY	2		

Line #	Item Description	Award (Y / N)	Reason	UOM	Supplier	Qty	Price	Extended Price
	Essential Pole Bag #GA800801 or approved equal	Υ		EA	VARSITY BRANDS HOLDINGS CO INC	1	\$96.98	\$96.98
				EA	MFAC LLC	1	\$99.00	\$99.00
					*ALUMINUM ATHLETIC		ψ99.00	ф99.00
	Bob Calf Stretch System			EA	EQUIPMENT COMPANY	1		
153	or approved equal	NB		EA		2	NB	NB
	Under Armour Storm Jacket #1248589-001 & Pant #1248595-001 or							
154	approved equal	4NS		SET	GTM SPORTSWEAR	4	\$70.00	\$280.00
		Υ						
				SET	*BARCELONA SPORTING GOODS	4		
	Under Armour Men's							
	Fleece Pant, navy with block white "S" or approved equal	4NS		PR	GTM SPORTSWEAR	5	\$19.25	\$96.25
		Υ		PR	VARSITY BRANDS HOLDINGS CO	5	\$33.10	\$165.50
							,,,,,,,	
				PR	*BARCELONA SPORTING GOODS	5		
	Under Armour Fleece 2.0							
	Team Top #1300123 025 black with royal blue "South Garland Track" number on pocket (#1 - 30) Rival Fleece Pant #1248351 025 black with royal "SGHS" number							
	below (#1-30) or approved equal	4NS		SET	GTM SPORTSWEAR	30	\$39.90	\$1,197.00
					VARSITY BRANDS HOLDINGS CO		\$51.75	
		Y			INC	30	\$31.75	\$1,552.50
					*BARCELONA SPORTING GOODS	30		
	Compression Chira				AMERICA TEAM SPORTS	30	\$63.95	\$1,918.50
	Compression Shirt Royal/White #1257468 400 white interlocking 3" "SG" with crossed swords underneath - three color							
157	or approved equal	4NS		EA	GTM SPORTSWEAR	35	\$16.45	\$575.75

Line		Award						Extended
#	Item Description	(Y / N)	Reason	UOM	Supplier	Qty	Price	Price
		Υ		EA	VARSITY BRANDS HOLDINGS CO	35	\$20.25	\$708.75
				EA	AMERICA TEAM SPORTS	35	\$23.00	\$805.00
				EA	*BARCELONA SPORTING GOODS	35		
	Under Armour Qualifier 1/4 Zip Pullover #1273917 040 graphite/white/white with two color lettering opposite side of logo or approved equal	4NS		EA	GTM SPORTSWEAR	3	\$30.10	\$90.30
					AMERICA TE AM ORORTO		¢07.00	\$444.00
		Υ			AMERICA TEAM SPORTS	3	\$37.00	\$111.00
					*BARCELONA SPORTING GOODS	3		
					VARSITY BRANDS HOLDINGS CO	3	\$50.50	\$151.50
	Under Armour Speed Form Fortis 2.1 Shoes #1285677 076 rhino	Y		PR	VARSITY BRANDS HOLDINGS CO INC	6	\$52.75	\$316.50
				PR	AMERICA TEAM SPORTS	6	\$67.00	\$402.00
				PR	*BARCELONA SPORTING GOODS	6		